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Indicial notation:
- If anindex is not repeated it's going to be replaced by {1, 2, 3} or in general the dimension of the problem (2D {1,
2})
- If anindex is repeated twice we do a summation on that
- Indices cannot be repeated more than 2 times in an expression (exception for eigen-expression)
- Indices should be consistent for all expressions -> if index i is given once in one expression in an equation it should
be repeated once for all the other expressions and so forth
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Permutation symbol - Cross product
- Determinant
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What is juxtapose both rows and columns: . .
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Vector spaces:
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In most applications we don't care about the base position of the vector and only use 1 and 2 to check

for equality of two vectors )
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Inner product between two vectors:
Ao < a\lbl e, Q
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